Form A : Instructions: (33 points). Solve each of the following problems and
choose the correct answer :

1. log, 6—1log, 3 =

(a) 0
(b) —1

(c) 2
(a) 1
2. If n(2z+5)=0 , then 2 =

(a) —2
(b) 2

(©)
(@ 3

3. tan (cos™! g—) =

() F

(©) Va2 —9

m

(d)

4. The domain of the function f(z)=sin"!(3z —2) is

o[
o (1)
)
o ()



5. The exact value of the expression e 32 ig

(a)

(b)

(c) 8
(d) -6

| — 0|

6. If f(z) is a function whose graph is shown,

then lirr% f(z) =

(a) 1
(b) 2
(c) 3

(d) Does not exist.



. If lim M

x—2 x2

=5, then lir% f(z) =

(a) 10
(b) 15
(c) 30
(d) =5

_2\2 __
g @38 -1
T—2 x—2

(a) 2
(b) 6

(c) -2
(d) o

CIE3(1—2) < fx) <2+ 22 , then lim f(z) =

r——5

(a) —32
(b) 18
(c) —18

(d) Does not exist.

lim v+ -T
(a) 0
()
© 1
(d) oo

. hHTIl_ T cotx =

r— 7

() 5
(b) 0
(©) 5

(d) Does not exist



13.

14.

15.

ot =27
lim =
z—3 T —3

(a) 27
(b) 3
(c) 9

(d) Does not exist

1
lim —2—% —
z—>-5 b+

1

5
_'_
() 5

(b) o

(c) 25
(d) —25

If g(z) is the function whose graph is shown,

A a(x)
> | tf] 2 4 5
then mligl+ g(x) =
(a) 1
(b) 2
(c) 3

(d) Does not exist



16.

17.

18.

19.

20.

If f(z):{ jf;l if z>1

(a) 3
(b) 2

(c) —2

if z<1

(d) Does not exist.

x2—4

If f(z)

(a) —4
(b) 4
(c) 16

T -2

, then lim f(x) =

r—27F

(d) Does not exist

lim
(a) 0
() ;
(©) —+
@) 1

lim sin 0

tan(z —3)
a—3  br—15

9—0 6 +tanf

(a) 0

1
(b) 2
(c) 1

(d) Does not exist

lim
z—oo 213 — 3x

(a) 0
1
(b) 3

(c) 3
(d) o0

z* + 623

, then lim f(z)=

r—1t



2
91, lim Y& —1l_
z——00 2x+3

(a)

®) ;
() o0
(@) oo
972 — 2 +2

22. The horizontal asymptote of f(z) = yr is
i T

9
(a) y 1

(b) o=

9

(c) y= 1

(d) :17:—?l

. 3+ 32% -1 .
23. The function f(r)= —= has a horizontal asymptote.
x R

(a) True.
(b) False.

24. lim (22 —z+3) =

r——00

(a) —o0
(b) 3
(c) 2
(d) oo

25. lim tan(
2—00 r—m

(a) —7
(b) 1
(c) O

(d) Does not exist.

)=



9
2. lim —r  —
z—3+ T —3

(a) oo
(b) 6
(c) 2
(d) —o0

r+4

27. The vertical asymptote(s) of f(z) = Zrr_12

is (are )

() y=3
(b) z=3
(C) y:37y:_4
(d) x=3,x=-4

28. The horizontal asymptote(s) of the following function is (are)

A g(x)

<

o

N

1
N

'
[o)]

(a) z=2

(b)) =0 , z=2
(C)y:—l 7y:0
(d) y=0 ,y=2

3 .
29. The function f(z)= { f’?2 4 if x>2

i is continuous at a = 2
T if <2

(a) Ttue
(b) False



Kx —x if z>1

30. The function f(z) = { is continuous on R if

3x if <1
(a) k=+4
(b) k==+2
(c) k=4
(d) k=-4

31. If f(x) is the function whose graph is shown below |,

then f(z) is

(a) continuous from the right at » =2
(b) continuous from the right at z =0
(c) discontinuous from the right at z =2
(d) discontinuous from the left at z =0

32. The function f (z) =secx is discontinuous at z =

(a)n2—7T , nez
b)nm , neZ
(c) 2n+ 1)1 , neZ
(d) (2n+1)g , nez

2 —4

33. The function f(z) = is continuous on

(a) (—oo0,—2]U[2,00)
(b) (—OO, _2] U (27 OO)

(c) [-2,2)
(d) (—o0,=2)U[2,0)



